Parts List .«..x:

) paPAIEN
A————— S— 8 ¥ ¥ ]
Model: AC26SB IR—YY AR3—R 523064

BIGMU ..






HaROITHERIZDINT

1. BRSO TEX DB

wiEs (BX) - BaRES - BBHREW - MEZTHEZEL,

INTEATAG (X BI R DEHE TR E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23HERATIZEL,
AHRRITEBRLIZLDEHYET .
ABEREBRDAFELGCEETIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XX SRBERTLTHYET . <D XX [FAFAMN—D
ELDORHELBEZTERLET,

o a ks 0N

B X

T 2R I eeoeeeeeeseseseseseeeeseeseeseeeeeeeeee e 1~2
2. IO (DTUDT =R DU e 3~6
I SRV QU b B 100 5 St 3 B 7~38
4. T (FXTLR BBFUD) eeessseesesesese 9~ 10



1. AC26B
K AX




RHEES | HaES B & {1 &% &
1-1 363711 | AC26SB 1
1-2 226792 | TUNIVY 1
1-3 227919 | K 9VUN 1hUbA 1
1-4 215532 | fiv44=%") 1
1-5 054691 | YUhT9 9347 1 [ 6794
1-6 089738 | 6 AU Wb (+ 777 EYH) 1 | M5x15
1-7 228446 | NN IWMNYTATY 934T 1 [ 8744
1-8 092561 | 6 hYF'IWb (+)SW 6 | M5X25 77° Wb
1-9 228089 | ¥ ¥hr—-R49347 1 |10~ 16744
1-10 089845 | 6 Hl b 1 | M8X10
1-11 092550 | 6 HYK Lk (+)SW 1 | M5X25-7T
1-12 212986 | NE/KR A 1
1-13 219195 | nE/K'AB 1
1-14 215610 | 6 h4H Wb WSW 1 | M8X22 t47)
1-15 222128 | ¥¥IFEIUNY 1
1-16 222129 | 4YE' VY 1 | 5X20
1-17 089737 | 6 h9H Wb (+ 777 EYH) 1 | M5X12
1-18 220549 | F1943—9 1
1-19 231615 | #=L7°L—} 1 | AC26SB
1-20 229790 | AUNLIRA 1
1-21 226961 | nUNILTRA 1
1-22 226963 | A{YFr—AI34T 1 |23~ 25744
1-23 226988 | ARV (+) 1 | M5X18
1-24 012487 | t5%'h'% 1 | M5
1-25 126993 | 6 B9+ Yk 1 | M5
1-26 226987 | AMYT AAYFTIA 1
1-27 222138 | A4YFhN - 1
1-28 103032 | ARYMLLAN - 1
1-29 228472 | 74YThA 1
1-30 220533 | W3 UM 9348T 1
1-31 222821 | ¥ A9AVAN-H34T 1 |32~ 34744
1-32 212994 | AN =V r950TYy 1
1-33 212995 | AN —-AHIhTY 1
1-34 092577 | 6 H9K Lk (+)SW 2 | M5X25
1-35 224693 | ¥Y7Y— 10 1




2. AC26B TV
IS0 —R, )R

77

22




RHEES | HaES B & & &% &
2-1 858716 | 1YYy 1 | EE260/20
2-2 269140 | Yo% 1
2-3 282330 | ' AHYE 1
2-4 261250 | 6 H97 Y%K ILF WSW 4 | M5X20
2-5 263772 | 41UY2L—4TkS 1
2-6 267049 | B AHFYb 1
2-7 269826 | TAIRY ()WSW 2 | M5X25WSW *v%
2-8 282329 | ¥777t€V7) 1
2-9 266264 | %Y1 2 | M5X50 7599
2-10 282252 | B ANYb 1

-11 282985 | kY7AN— 1
-12 280144 | 4YEVAY (+) 1 | 4X16
- 282245 | H7095-2 1
- 280488 | ATYUY 2 | PPL 6001
- 261492 | #ALY—I 1
2-1 261386 | #4NY—=Ib 1
2-1 055185 | C h'4ki0 1 | 7F39 28
2-1 261612 | 6 W97 Y%K ILF WSW 3 | M5X30
2-1 269160 | E'AbY 1
2-2 261496 | E'AMUY 2
2-21 261497 | E'AbUEY 1
2-22 261037 | =—FAATYYY 1
2-23 261576 | #—49Yv7’ 2
2-24 282323 | 47099% 783077 —b 1
2-25 269168 | 45VF7tU77) 1 12627794
2-26 269169 | 479Fv1 2
2-27 269173 | A7°vy’ 1
2-28 269647 | #7VFK Wb 2
2-29 269175 | 79y¥ 2 | 6.1X15X1.6
2-30 261777 | 9I-779v% 2
2-31 286541 | 77UhnN=7tU7Y C 1 |32~ 34744
2-32 280314 | 479FN3L3077)—F 1
2-33 014210 | C h'4hAD 1 | S10
2-34 282233 | 77UhN— 1
2-35 282215 | 497’ 1
2-36 281169 | A%Y1 1
2-37 282692 | ¥RV 1 |38~ 44744
2-38 261356 | A—4% 1
2-39 282693 | 19 Z9Y3AVAMNTEYT) 1 |40 ~ 44 744
2-40 267401 | 241 1
2-41 282694 | 1-FT7tY7) 1 |42~ 44754
2-42 261074 | 7°39°%%vv7’ 1
2-43 261075 | 794 1
2-44 282695 | 1—-F 1
2-45 269831 | TA1%Y ()WSW 4 | M5X20WSW




2. AC26B TV
DS9—R, )R

77

22




RHEES | BRES I 71 &%k fis
2-46 261076 | nuryE— 1

2-47 261417 | #5390 2%9%F+9b 1 | M8

2-48 280381 | AN—¥ 2

2-49 269832 | FTAIRY (+)WSW 2 | M4X25WSW
2-50 264652 | AnN=497"34" 1 | cJ8Y
2-51 267492 | )—-F 1

2-52 282880 | -} 1

2-53 280670 | #'AAYh 1

2-54 264588 | h5v7° 1

2-55 269705 | 38 1

2-56 269824 | 3~ 1




3. AC26B TV
JaAJ)LRA—4A

14




RHEES | HaES B & 1 &% &
3-1 282404 | VAW ARI-4T LT 1 [2~11744
3-2 282405 | A4—47t77) 1 |3~107494
3-3 283411 | )=l 1

3-4 283412 | hh7'L—b 1

3-5 280930 | 4'uN-R7Y 1

3-6 280931 | ANATNAT YUY 1

3-7 267213 | YRS 1

3-8 280932 | -7 7tVU7Y) 1 19710744
3-9 280933 | A4—40-7° 1

3-10 267219 | R4—4)7 1

3-11 280934 | 7 -7tU7Y) 1

3- 280489 | A1y (+)WSW 2 | M4X20

3- 269833 | FTAIRY (+)WSW 1 | MAX16WSW AY%
3-1 286764 | 3N 1 | AC26SB




4. AC26B T2V

FrILA, BEEUY

29




RHEES | HaES B & 1 &% &
4-1 280101 | ¥¥7°L47tV7) 1 [2~15744
4-2 263739 | KVIEKTA 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 283905 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 282576 | H'AHYb 1
4-10 267358 | Y'IYh 1
4-11 261871 | Oy 1
4- 261876 | vy 1
4- 261658 | A4~ 1
4- 264682 | %Y1 2
4- 262996 | A%Y)1 4
4-1 261864 | H"AHYh 1
4-1 284823 | T—AT7tV7) 1 |18 ~ 24791
41 269050 | H—AK'T4 1
4-1 284802 | N7 1
4-2 284803 | Ln'— 1
4-21 284816 | 79y¥ 1 | 6.4X11X0.15
4-22 269032 | A%Y1 1
4-23 126993 | 6 HHFYk 1 | M5
4-24 269051 | RY)=7" 2
4-25 281777 | 7A 242V (+)WSW 2 | M5X55WSW-7T
4-26 269030 | ILAVH 1
4-27 269027 | Y—Thn'— 1
4-28 269031 | A%Y1 1 | M5X12
4-29 280020 | AAANLYUY 1
4-30 282774 | 4u9T€077Y 1 |31~ 41794
4-31 282250 | 71-IM4YY 1
4-32 281565 | 4v9%Y97°7tY77) 1 33744
4-33 269377 | NIy 1
4-34 261696 | 771)—%)34T 1
4-35 265752 | #UVAINATTEUTY) 1 |36~ 41744
4-36 264031 | W47 9347 1 |37 ~3974L
4-37 261115 | 4'0AYb 1
4-38 261690 | #3AUNA7 1 | 160L
4-39 263038 | A—n70-N47 1
4-40 264653 | 7447 €Y7 1
4-41 261117 | 997’ 1
4-42 269828 | FTAIRY (HW 2 | M5X16W(11.6X1)
4-43 281208 | A IRY (HW 1 | M5X16W A9% (116)
4-44 281596 | 3~ 1 | F3-9

-10-




5. AC26B
T & M

-11-



RHEES | BRES =1 71 &%k fis
5-1 221460 | K3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE'FYHAANT 1
5-4 219431 | 6 h9R AN 1 | ZAUnN 3
5-5 022865 | YIAVYFANT 1 | 8x10
5-6 229250 | M)7Yh4tEYAMY3 1 | AC23SB/SBL

-12-




